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P = (x(t),y(t)) = (acos6(t), asin6(t))
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(—ad'(t)sin 0t, ad’ (t) cos H(t))

lv| = al6'(t)]

dv  d’P

=Z =gz = (—ab"(t)sinO(t) — ab'(t)? cos 6(t),

a0 (t) cos O(t) — ab'(t)? sin O(t))
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P = (x(t),y(t)) = (at — asint,a — acos t)
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i (a— acost,asint) = (2acos? 5,2acos§sin 5)
000t=2nrad 0000 (2n7a,0) (n: 00)0 000
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(sint)x — (1 —cost)y +a(2 —2cost — tsint) =0

dP
O0:v= i (aw — aw cos(wt), aw sin(wt))
2
P

O00: a= o (aw? sin(wt), aw? cos(wt))
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f(x): [a,b)00 200000000

f(a) >0, f(b) <0

[a,b] O f'(x) < 0,f"(x) >0
f(x)=0(a<x<b)

U0 x=cOoobd

_ . f(a)
AN E)
Xp = Xp—1 — fOn-1)
n n—1 f/(Xn—l)

O00000x, — ¢ (n— o0)
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%{f(xl) o ()} > f(u)
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Uil x;=---=x, 000
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X, ,xp>0000

1 x1+ -+ X

o000 x;=---=x, 000
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